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1.     ?     .  14 

               

  2015  2020    . 14 
  

2.     ?     . 14 

               

 (A)    7 
 (B)     7 
  

3.         . 14 

               

        . 14 
  

4.     .     . 14 

               

 (A)      . 7 
 (B)    ()   . 7 
  

5.        : ( ) 14 

 (1)           ? 
  (A)     
  (B)     
  (C)      
  (D)    
 

 (2)           ? 
  (A)   (B)   
  (C)   (D)   
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 (3)             
  ? 

  (A)   (B)   
  (C)    (D)   
 

 (4) 2013        ?  
  (A) 63800 (B) 50000 
  (C) 25000 (D) 12670 
 

 (5)             ? 
  (A) 1980 (B) 1990 
  (C) 2000 (D) 2010 
 

 (6)         ? 
  (A)   (B)   
  (C)   (D)   
 

 (7)         ? 
  (A)   
  (B)    
  (C)   
  (D)       
 

 (8)              ? 
  (A)     (B)    
  (C)    (D)    
 

 (9) 7 , 2019       2019     
  ? 

  (A) 8% (B) 7% 
  (C) 6.9% (D) 6.5% 
 

 (10)  2019-20          ?   
  (A)   (B)  
  (C)   (D)   
 

 (11) 2019-20        ? 
  (A) 1.50  (B) 2  
  (C) 2.50  (D) 3  
 

 (12)  500  1,000        ? 
  (A)      
  (B)     
  (C)     
  (D)    

__________ 
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1. What is Foreign Trade ? Discuss India’s Export Promotion Policy. 14 

OR 
 Explain India’s Foreign Trade Policy from 2015 to 2020. 14 
 
2. What are Commercial Banks ? Explain the importance of Commercial Banks in India. 14 

OR 
 (A) Private Banks in India. 7 
 (B) Reforms in India’s banking infrastructure. 7 
 
3. Define Reserve Bank of India and explain its functions. 14 

OR 
 Discuss the quantitative tools of Reserve Bank’s monetary policy. 14 
 
4. Explain the characteristics of India’s tax structure. Describe the limitations of India’s 

tax structure.  14 
OR 

 (A) Discuss effects of Black Money on the Economy. 7 
 (B) Write a note on Demonetization of money in India. 7 
 
5. Choose the correct option from the options given below : (any seven) 14 
 (1) To know the development of foreign trade of any country, what should be 

necessary to know ? 
  (A) Change in the size of imports and exports 
  (B) Size of total world trade 
  (C) Share of foreign trade in national income 
  (D) All of the given 
 
 (2) Performance of which sector is surplus in the present foreign trade of India ? 
  (A) Agricultural sector (B) Industrial sector 
  (C) Service sector (D) None of these 
 
 (3) By which government first attempt was made to bring effective liberalization in 

India’s Foreign Trade policy ? 
  (A) Nehru Government (B) Indira Government 
  (C) Rajiv Gandhi Government (D) Modi Government 
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 (4) In 2013 at how much average population, there is one bank branch ? 
  (A) 63800 (B) 50000 
  (C) 25000 (D) 12670 
 
 (5) After establishment of which year Private banks are considered as new private 

bank ? 
  (A) 1980  (B) 1990 
  (C) 2000  (D) 2010 
 
 (6) Whose name was mainly connected with past security scams ? 
  (A) Harshad Mehta (B) Vijay Malya 
  (C) Nirav Modi (D) Ramesh Mehta 
 
 (7) Which of the following instrument (tools) is not a quantitative credit control tool ? 
  (A) Bank rate 
  (B) Cash reserve ratio 
  (C) Credit rationing 
  (D) Buying and selling of government securities in the open market 
 
 (8) Which method is adopted by Reserve Bank of India to issue currency in India ? 
  (A) (100) Hundred percent Reserve System 
  (B) Equal Reserve System 
  (C) Fixed Ratio System 
  (D) Minimum Reserve System 
 
 (9) What was the forecast for GDP growth in the monetary policy of RBI 

announcement on 7th August, 2019 ? 
  (A) 8%  (B) 7% 
  (C) 6.9%  (D) 6.5% 
 
 (10) As per the Current Budget 2019-20, which tax has the first position in terms of 

revenue ? 
  (A) Corporation Tax (B) GST 
  (C) Income Tax (D) Excise Duty 
 
 (11) In Budget of 2019-20 how much amount is tax free ? 
  (A) 1.50 lakh (B) 2 lakh 
  (C) 2.50 lakh (D) 3 lakh 
 
 (12) What is the object of Demonetization of ` 500 and ` 1,000 notes ? 
  (A) To deal with black money in the economy 
  (B) To increase cashless transactions in the economy  
  (C) To control the terrorism 
  (D) All of the above 

________ 


